=M EFYRE

= - 5 #8 B EE| 48 By E151
RS = 2t BE I B | (Hso.
IKTEWA BT = g 50% .
AKFEULA SN3E B LA 50%| 22.50%
_ B8 513 12 I UG i B a0 — _v—— "50%| 22.50%
=2 U B 0 MERE - BKE - 8EEE ¥ 50% 40%
=R | | EE-UTRBEER B - 50%| 22.50%
S ST e MR ETRE S T - mILE - ANE - B " 3
N e Bt b B 2R20 ge2-°0%
e EA&-EES B E E - EHE- -mEE - -NPE = | 50%| 2250%
L=
=5 == - [l 3 2 Tl == =2
B g RS i - EA L~ ANE - EHE 50%| 22.50%
ETE - mibE - ZEE - &5
=2 Ug A B AR B E - ANE - MHEE - S - 5 50%| 22.50%
(L& - =(LIE - BEEE
Fa /I EIR-PEKESHE (= 50%| 22.50%
£ A B s o = 42
=iz ;’z:} mENRERMES {45 ‘ AR S 50%| 22.50%
tH 1% AE £ - 35 22 B B ST - ELE - BEE AT 50%| 22.50%
EEEEIOG |=FR-ReERKE . |=fh 50% 10%




	臺南市農作物保險

